
Реши задачи.

    понедельник                                  вторник   и среда

   400 км           по ? км, поровну

                         1000 км



•                                 a + в = 21

                             а - ? , в 6 раз больше

•             в - ?



    40 км, это в 5 раз 
больше, чем пешком.
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 ? км

? км



Реши задачу

8 кг сена в сутки, 
на 32 кг  меньше, чем

? кг за 
неделю



Был в пути 2 ч 15мин

  ? мин 

 115 мин



Световая площадь – 1/5 

•                              а = 8 м
•                              в = 5 м



Реши задачу.

8 корзин          -  96 кг

? корзин         - 60 кг



Реши пример.
• (675 266 + 1 462 010) : (200 000 – 199 996) * 

3 – 259 584 : 48 =

• 1) 2 137  276

• 2) 534 319

• 3) 1 602 957

•          4) 5 408

•                   5) 1 597  549


